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Geometry 21: Review for Quiz on 4.1-4.4

State each of the following: o o g
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Use the congruence statement FAITH = LUKEC to complete the following: ‘
3 A= £ 4 EK=_TT 5. ZAFH=<ULC

For each triangle described below, if another triangle is drawn with the same
corresponding information, would the 2 triangles be GUARANTEED to be congruent?
In other words, is the given information enough to determine a unique triangle? If yes,
state the theorem or postulate to support your answer.
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Using the diagram below (not drawn to scale) and given the following information, which
two triangles are congruent? Briefly explain your answer and give the theorem or
postulate that proves the congruence. (Don’t do a proof, just briefly explain).
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10. £ZCDB=/EBD, ZDEB=/BCD
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11. InaABC, AB=3, BC=4, and AC=5. InaXYZ , XV=5, YZ=4, and XZ=3. Write a
congruence statement for the triangles.
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12. maTRI and aNGL, RI =GN and £G = £R , what other information would you
need in order to say the triangles were congruent by AAS?
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Geometry 21: LOTS of practice with Triangle Congruence Proofs{!! ©

Ol Given : LAXB = LCXB,ZABX = ZCBX
" Prove: AB=CB
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7 Given : O is the midpoint of PR, £P = ZQRT s _ | R
Prove:Q is the midpoint of ST ;
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Given: A=/4,22=/3 o

Prove: AB=CD ;} <] Saj ; é-;. =R

5 Given:Bd=BC,BD=EE K% s \‘Q\&\
Prove: Z/BDC = /BEA _ L .
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s Given: AB = AC, M is the midpoint of BC
' Prove: AM bisects ZBAC




Given: NR = PP RO bisects /NRP
Prove OR bisects ZNOP
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g Given TH = KJ, /MJH = /MJK
Prove: MJ bisects ZHMK
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1 Given: F' is the midpoint of DE and BC
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Geometry 21: A Little More Practice with Triangle Congruence (4.1-4.4, 4.6)

1. State if the following triangles are congruent or not. If so, state the postulate or theorem you used.
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2. Label and state what additional information the triangles need to be congruent for the given reason.
Then, complete the triangle congruence statements.

a. AAS b. SAS ¢. HL
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3. Find the value of x that makes the triangles congruent.
a. b.

(Bx — 27)°/ Ax+ 7




4. Find the values of the missing variables, given the following triangle congruence statements.

a.  ARST= ATUR b. AGHJ = AIHJ]
3m+7

6. For which value(s) of x are the . 3¢~-§=0
triangles congruent?
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